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1. 58 n 2,000 0 2,000/ (B HA)L&9H 1,000,0008) < 11d= 1,000,000
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6.1A}e1 4 @ o3 500 0 500
1. 05 H| 500 0 500( (%3 F#) nLAFA4=1H] 200,000 X 1= 200,000
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7. EAAT A5 9 P3| 200 0 200
1. 580 200 0 200[ (A BA)ALEALH] 100,0009) < 1id= 100,000
(AAF)E3H] 100,000 X 13d= 100,000
8.5 1] 150 0 150
1. 05-gH| 150 0 150 (4 E3)&9H 150,000 X 1\d= 150,000
A &g 19,182 4,162 15,020
I atn &9 14,920 0 14,920
13532 14,920 0 14,920
1571489 w29 1,989 0 1,989
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1. 258 gH 6,680 6.680] "2 7 I 200 0004 x 451 800,000
(YA NI S (SIS, ZRAE 5]
S)-28hd 200,000 X 43]= 800,000
AP RSl (S HY, TZAE 59
5)-38d 200,0009) < 43]= 800,000
A1 ST = == Zn ©
EO%@)E—“I‘U‘E“I Zﬂ"l ] 6y400‘(‘_]><2007H 1,280,000
(AEA) sy A F3t2ds 2 dH| 600000
300,000 x 23]= ’
(BEA) st AEHuhd (S (90 1.000.000
1,000,0009 X 13]= U
(BE)AHEFokE 91 200,0009 X7 1.400.000
2= ,400,
. A A A) A XS E 2D ©
2.6_—}_/(351_';(]13] 300 300 ( o‘:—a 1__)—| gx]'x] = O Z]T_ ] 50,000'(_ 300,000
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(BE) A A8k wSEE A
1. 2&gu 300 300/ > g . 300,000
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2.0H] 80 80| (A HA)ZAolu] 20,0009 x 2™ X 23]= 80,000
_ A )t el 23] &9 u )
3. EAA 5210 200 200 (xowﬂ]fh)jT el 200,000 200,000
FCEA AU ET) 3,500 3,500
A ) e a2 Fol =l = )
105890 3,500 3,500 (X"lglj)jlizx PR=d= 2,000,000 2,000,000
] L] /O] FL 370 5L e}
(‘o%ﬁ)—u /A& E 1,500,000 <1 1,500,000
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T(EPE ) 4,000 4,000
A AT L E ST 3]
T 5600 3. 600 (ﬂo_ﬁa )G EALE 2,000,009 <1 2,000,000
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2. AR EY 5,400 1,800 3,600
1.8 uA R A Y 2,800 1,800 1,000
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2. 2ZE O aE &9 2,600 0 2,600
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